L = 1 = = oo S, 9 AN ey
KEANAEFEUFZERIT) DES KR (SF6EIAIIBERA) TR
FTEIF 3 - RAEDKR =k
EEIR é%%gx%[i FE-REE HEEFE ¥ gg T FE
axal " A =
KiE | EAE KiE | EAE FE
KA Hh [ h 1 HA 8 8 8 8 AEBR H28
KA Hh [ h 2 4 8 8 8 8 AEBLE H29
EREEAT  |HRHh A 10 10 10 10 N LS H30
KEME H ih 12 12 12 12 A B R1
5 38 38 0 0 0 0 38 38
22 22 22 AEBE H29
RiHiEHh X 85
- 63 63 63 AEEE H29
BIT
FERHEX 26 26 26 26 AEFA R2
¥ 111 111 0 0 0 0 111 111
BHE#h X 18R 50 50 50 50 AEFA H28
B X FE2HAE1ITX 14 14 14 14 AEFA H29
EMET |[EA®MRE2HFEI2IIX 40 40 40 40 AERmE H29
KETH X E28E3T X 50 50 50 50 AEEE H29
£§s
5;:5 B 64 64 0 90 0 90 154 154
/\
fg« B HAHX 17 17 17 17 AR H29
= B 17 17 0 0 0 0 17 17
EZEtX 11 11 11 11 AEA H28
BEH
K 0 0 0 11 11 0 11 11
20 20 20 20 AERR R1
KINEHMEE1H [ B TEE] 15 15 15 15 AERR R1
KHEHT 15 15 15 15 AEFA R1
KINREHRE 2 [ R ITEE] 42 42 42 42 AEELE R1
i &t 92 92 0 0 0 0 92 92
1=
ﬁ WERFE AR AL T 7 DR AT EE] 8 8 8 8 AEBA R4
A
g MERFE AR L T 7R TELE] 3 3 3 3 YN LS R5
E WERT |[wEREAH®RRET)7OMRATEE] 15 15 15 7 BETEMD R6
=
Tzﬁ WEERFE B R T 7 QIR ITEZ] 4 4 4 4 BETIETET R5
[i]
= 30 30 0 0 0 0 30 22
1 INETD 352 352 0 101 1 90 453 445
o E g X 12 12 12 12 AEBE H28
EE 3
& 12 12 0 0 0 0 12 12
EA 15 15 15 15 AEER H30
SR EEAT
E 15 15 0 0 0 0 15 15
B X 80 80 80 80 N LS H29
- EEHX 10 10 10 10 AEBR R4
BIT
HEIREX 75 75 75 0 EEREh R7
B 10 10 0 155 75 80 165 90
20 20 20 20 AEBR R1
RINEHREIHI[BRITERMH]
" 20 20 20 20 AEFE R1
;:E- KEERT | )11 B bR 252 8 8 8 8 AR R4
ﬁ TEHL#X 50 50 50 50 BETERET R5
E 5 28 8 20 20 20 0 98 98
BT MEE 10 10 10 10 AEEa R2
RS
L] 10 10 0 0 0 0 10 10
WMERFEAIR LT 7 DIRHKATE ] 17 17 17 17 NS R4
WMERFEAIR LT 7 QIR K ATEE] 9 9 9 9 A BB R4
x WMERFE AR LT 7 OIRHKATEE] 2 2 2 2 AEELE R5
FEEHT
MEERF IR AT 7 OIRRITEE] 6 6 6 4 BETEH R6
MERFE AR T 7 QIR A TELE] 22 22 22 22 BEITESET R5
=i 56 56 0 0 0 0 56 54
INETD 156 136 20 175 95 80 356 279
E'J'%% & BTEEIR £ — Mt 10 10 10 10 AEEa H26
fk%_ﬁc ;E%‘ BET |EIERE it 10 10 10 10 AEBIA H26
P = C
E%E i?ﬁ & 20 20 0 0 0 0 20 20
2¢g %E
Z5) Nt D 20 20 0 0 0 0 20 20
BiO+Q+3 528 508 20 276 106 170 829 744

X1 WNR BBIETREDEEER T =12 ETH

X2 MR BERPEYERVEBEY GEHERXEEZRRO OHETH




FH6EIA31BIR

TAMEESTEREERMRED)

0 20 40 60 80 100

NI+

(B 7]

——————————

\..N
A
<,

\
R, g [
LT \ 7

¥ — A

~ =~ \\_‘
3 =
s [ BRA
STt = K
- ~

1
‘
-

F~cmsty \_ .
\ Y=
S

'~
rel

XAF6LE3 A3 BB,

20 40 60 80 100

SE.BlEF EthREDEMTHRBOCFHNLEETHalEENHYET, 0 10 20 30
829 (28#[X) u SHEFH R T EFR)
R . 100.0% . . . . . . . | 829 (28#K) SRS
[} 90.9% , , , . . . . 754 (27#1X) -
(107HET#) ©100.0% . . . . . . 829  (28Hh[X) FibRERS T
90.9% : : : : : , 754 (27#X) BEEHEFE)
— —_— I8 (2E)  BRTEGEFH)
0 50 100 150 250 300 350 400 450 500 550 600 650 700 750 800 850 BYISER




